Algebra review (preparing for chapter 2):

(a2 – b2)/(a – b) = a + b
(a3 – b3)/(a – b) = a2 + ab + b2
(a4 – b4)/(a – b) = a3 + a2b + ab2 + b3
(a5 – b5)/(a – b) = a4 + a3b + a2b2 + ab3 + b4
etc.

(a + b)2 = 1a2 + 2ab + 1b2
(a + b)3 = 1a3 + 3a2b + 3ab2 + 1b3
(a + b)4 = 1a4 + 4a3b + 6a2b2 + 4ab3 + 1b4
(a + b)5 = 1a5 + 5a4b + 10a3b2 + 10a2b3 + 5ab4 + 1b5
etc.

The coefficients in the polynomials to the right of the equal signs are given by the entries of an array of numbers discovered by the ancient Chinese, called Pascal’s triangle:

                         1

                    1        1

               1        2        1

          1        3        3        1

     1        4        6        4        1

1        5      10      10        5        1

etc.

[Hand out time sheets; collect section summaries]

[Finish True-False]
